Dirwin Caravan
Cargo E-Bike
Assembly Manual



https://manuals.plus/m/f8eea222c9f3be5e9d8177aba666cb28f944a2642921a393c64f935c413e3678

Step 1 :Install front underframe bearing sleeve/bumper sleeve

1 ¥

-

*®

E"l"'Of M8-25
- B D) ® =5 =

2pes Specs 1pcs 2pcs bpes

Step 2 :Install the fender

Screw

(@
oo O Specifications: M6*1 6mm

gl Quantity 4 ps




Step 3 :Install the front wheel

M5*1 6mm

m w Specifications:
Screw
u ‘ l ‘ Quantity 12 ps

Step 4




Step 5

Yo%

-t

Specifications:

M8
Corew 9@ ﬂuantity
4 ps
Step 6
F = 4
@ O t Specifications: M6*1 6mm
Screw
;» !l o Quantity 2 ps
Step 7
@
< »
A 2N
V4 2




Step 8

Screw

Specifications:

Quantity

M6*35mm

8 ps

Step 9

Screw

Specifications:

Quantity




Step 10

Screw

Specifications:

Quantity

M6*10mm
M6*15mm

2 ps
2 ps

Step 11

Screw

’g Specifications:

' Quantity

M8*40mm

2 ps




M6*10mm
S O : D ~O) | Specifications: M6*15mm
crew -
_ 11 ps
_ Quantity 11 ps
Step 13
Screw
[E=== A

Specifications:

Quantity

M6* 10mm
Mé6* 12mm

4 ps
4 ps

Specifications:

Quantity

M4*27mm
M4%* 10mm

4 ps
4 ps

M4* 16mm
Specifications: M4% 10mm

Quantity 4 ps
4 ps




Screw Specifications: M6*25mm

Quantity




Electrical Connection Diagram




DIRWIN BIKE CO., LTD.

Call Us: (908) 444-0652

WD: 8 am-5 pm EST WKD: 9 am-6 pm EST
E-mail:

sales@dirwinbike.com;
customerservice@dirwinbike.com

www.dirwinbike.com



